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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. (i) Define Teratology.

fapfa famm &1 wRkenfom wifsw)
(i1)) State Bayer’s Law.
SR & a1 fafee
(i11) Name the type of fission found in Paramecium.
T & 9w S e faremed 1 AW fafew )
(iv) What is Vitellogenesis ?
Wqh S F T 2

(v) How will you define Manchette ?

TTIE F A9 HY qRAfe w2
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(vi) What is Polyspermy ?
wielerH o § ?
(vii) What is the plane of first cleavage in
amphioxus ?
TfrRsied & gg9 fogem @1 @ e g
€ ?
Section-B 4x3%:=14
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries

3%, marks.
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2. How developmental biology aids in Human

Welfare ?

AiforeR} &1 AHE e H = ANEE § 2

3. Draw a diagram depicting structure of sperm, also

label it.
YIS TS R GAHIha fos sART |

4. Explain Acrosomal reaction and penetration.
THEHE fFa @ 95T w1 SHEET

5. Throw light on Artificial Parthenogenesis.

FAA AHYH T W THET ST |

6. Write a note on Epiboly.
SRR T Tk A fafe|

7. Comment upon the types of Differentiation.
faded & gRl W ool wifsw
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8. Explain the development of Spinal Cord. 11. Comment upon the following :

9. Enumerate the importance of Transgenic (b) Embryo sac

Organisms.

TSR WOl 1 SyAfTarstt i faeEm it

(¢) Types of ovule

(d) Pollinia
Section—-C 2x7=14

Frfafeq = femfort #ifsg -
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit (%)
your each answer maximum up to 500 words. () Yok
Each question carries 7 marks. (9) #=E F TER
Qi —H
(%) difafn

(" S 99)
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12. Calculate mean of the following data :
43, 48, 65, 57, 31, 60, 37, 48, 78, 53.

fr=fafea a1 9 @i HIfST
10. Write a detailed note on Stem Cells. =

T I R ﬁ"ﬁﬁ froqoft ferfie | 43, 48, 65, 57, 31, 60, 37, 48, 78, 53.
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13. Obtain the standard deviation of the following :
20, 22, 27, 30, 31, 32, 35, 40, 45, 48
Fefafea &1 99® foees 9@ Sy :

20, 22, 27, 30, 31, 32, 35, 40, 45, 48.
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